
3.373 

n(AUMUE) = 53 
45 
+ 

50 

+ 30 
-30-35 

-32+.25.: 

for 
registration 

and 

password:see 

first 

page 

of 
this 

book. 

For 

detailed 

analysis 

Login 

at 
www.scanneradda.com 

-n(AnE) 

-n(MOE) 

+ 
n(AnM^E) 

n(AUMUE)= 

n(A) 
+ n(M) 

+ n(E)-n(ANM) 

n(ANMOE) = 25 n(AnE)= 35 n(MnE) =32 n(ANM) =30 n(E) =30 

170 

18M 

19J 

Examinations 

20N 

1N 

21J 

21D 

n(M) =50 

Answer: (c) 73 (b) 
n(A) 

= 
45 

(a) 63 

(d) None (b) 53 

(1 mark) 

of 
the 

subjects 

: 

all 
the 

three 

subjects. 

Find 

the 
numberswho 

passed 

at 
least 

in 
any 

one 

Economics, 

35 
in 

both 

Accounts 

and 

EconomiCs, 

25 
students 

passed 

in 

50 
in 

Maths, 

30 
in 

both 

AC�ounts 

and 

Maths,.32 

in' 
both 

Maths 

and 

DY 
Out 
of 

total 

150 
students, 

45 
passed 

in 
Accounts, 

30 
in 

Economics 

and 
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(d) 

None 

of 
these 

(c) 
{(1,4), 

(2, 
2), 
(3, 
6), 
(4, 

8)). 

(b) 
{(1, 

2), 
(2, 
4), 
(3, 
6). 

(4. 
8) 

(a) 
(2,1), 

(4, 
2), 
(6, 
3), 
(8, 
4)) 

(1 mark) 

1.2 

-f 
(4) 

= 
8, 

And 

f: 
A+ 

B 
then 

f' 
is: 

G-
(ANB) 

= 
{m, 
n) 

f(1) 
=2, 

f (2) 
= 

4,f 
(3)= 

6 
and 

B 
{2, 
4, 
6, 

8,} 

C={m, q, n) ANB=(g, s) 

3Y. 
If 

A=(1, 

2, 
3, 

4,) 

(a) 
A={p, 

4, 
r, s) 

B=(q, S, t} 

of rac 

2008-DECEMBER 

Answer: (c} {r, s} 

(d) (p, (b) {p, q} 

(1 mark) 

(a) {m, n) Find C -(AA.B) 

Therefore, f'() = 

(x+1) 2(x-1) 

f")= 

G={m, q;n} B= {q, $,} 

y+1 2(y-1) 

*=2(y-1) 
(y +1): 

X* xy=2y' -2 2+X=2y-Xy 
x(1+ y)=2(y-1). 

[5] 

I 

A=p, 

4, 
r, 
s) 

x= 3/2 2x =3 
* 

4x* 

4+ 
4x-4= 

4x 
+ 2X-1 

4 
x*+ 

X-1]= 

(2x+ 

(2x) 

-
1* 

: 

4 f(%) =f(2x) 

2 : 
a Lett 

() 
=y.; 

iUswer: 

(b) 

(x) 
= 

*+X-

1: 

Answer: 

fc)*1 X-1 

{1 mark) 

(d) 
Noné 

of these 

(d) 
X+1 X-1 

(1 mark) 

(c) 3/4 (a), 4/3 . 

4 

(b) 

X-1 

2*-1) 

2(x +1) 

f={(2, 

1), 
(4, 
2), 
(6, 
3): 

(8, 
4)) 

A 

fimplies f: B-*A When 

f: 
A 

+B,f={(1, 

2), 
(2, 
4), 

(3,;6), 

(4-8)) 

stica 

2008-JUNË" 

(a) 
A= 
(1, 
2, 
3, 

4}, 
B=(2, 

4,6, 

8) 

Answer: 

LC 

i 
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EN 

Iff (x) = 

x+ 

x-1 

and 

4f 
(x).=f 

(2x) 

then 

find 
'X. 

(b) -3/2 



=h-2x. . =-2x +h =2x 

+ 
2h 
+ 

h-4x 

-2h 

= 
(2(x 

+ h) 
+ 

h]-
(2(2x 

+ h)] 

f(x) 
will 
be 

undefined 

A =R-{O} 

f(x 
+ 
h) 

-2(x) 

Ifx=0 

(a) 
f(x) 

= 
2x+ 

h 

Answer: 

fix) = 
X 

(c) 2x+h (a). h2x 

(d) 

None 

of 
these 

[8] 

If 
f (x) 
= 

2x 
+h 

then 
find 

f(x 
+ 

h) 
-2f 

(x) 

(b) 2x-h 

(1 mark) 

(c) f:AR Answer: (c) R-{0} (a) R 

=0. 

(d) R-N (b) R-{1} 

(1 mark) 

= 
4x 
-

4x 
+6-6. 

=4X 

+ 
3-

4x-

6 +3 

If 
F:A 

R is 
a real 

valued 

function 

defined 

by 

= (2(2x) 

+ 
3]-

(2(2x 

+3)] 
+3 

1 
then A = 

f(2x)-2f(x) +3 

B-A= 

All 
elements 

present 

in 
B 

but 

(d) 
f(x) 

= 
2x 

+3. 

B 

(c) 1 (a).3 

X=2, -6 

(d) 0 (b) 2 

{Imark) 

(x-2)(x +-6)=0 X+ 

6X2X-

12 
=0 

. 

be: 

[71 

Given 

the 
functionf() 

= (2X+ 
3), 

then 
the 

valüe 

of 
fi2x)2f(«) 

+3 
will 

x*+ 4x-12 =0 B =fx:+4x-12=0} 

element. because 

the, 

diferent 

ordered 

pairs 

of 
H 

have 

thé 

säme 

first 

Therefore, 

in 
the 

giveri 

qüestion; 

H 
is 

NOT 

atünction 

from 

X to 
Y 

A=(1,2) 

have 

the 
same 

first,element 

is 
called 

a 
FUNCTION, 

(b).Any 

relation 

from 

X 
to 
Y 

in 
which 

no 
two 

different 

ordered 

pairs 

Answer: 

X=1,2 x+1)(<2)=0. x-2xX+2=0 *-3x+-20 
(a) 

A 
= 

(x: 
x*-3x 

+2 
=0} 

(d) 

None 

of 
the 

above 

(c),H 

is 
a 

relation 

from 

Y.to.X 

(b) 
H 

is 
not 

a 
funçtion 

from 

X 
to 
Y 

;"*4mark) 

Answer: (c) {1,2} (a) (-6} 

(b) {1 (d) 2.-6}, 

(1 mark) 

(a) 

His 

a 
function 

from 

X 

B-A 

is 
Eqüal 

to 

B' +4x120}, then 

[6] 

X={x, 

y, 
w, 

z}, 
y 

={1,2,3,4} 

\I9Y Ii A=(x:*-3x 

2009 -DECEMBER 

2010 -JUNE 

[Chaptër7 

Sets, 

Relations 

ánd 
Functiöns 

3:377 

3.378 

Scanner 

CAFoundatlon 

Paper-3A 

(Newsyläbus) f(x) =; 

not in A=-6} 

(2,-6} 

to Y 

H={(x, 

1), 
(y, 
2), 
(y, 
3), 
(Z, 
4), 
(x, 
4)) 

+2=0) 



, 

=*+6-2 
*+4 

=*+2x 

hence, 

f(x 
-1):=(k+ 

1-2(x-1) 

+5 

=(X-1)�2x+2+7-2 (2X+1-2x+7 

-A'UB= 

(c) 
f(x-1) 

=x* 

4x 
+8 

(a) A7A'UB) 

Answer:: (c)-x*+4 

(d) x4xX 

Answer: (c) A'UB 

(1 mard 

(b) x+7 

(d). 

None 

of 
these 

(1 mark) 

(a) 

(a) ANB 

() AUB 

AnB 

= 
B.(as 

À isa 

subset 

of 
B) 

the 
compliment 

of.the 

set 
A 

[12} 

For 
any 
two 

sets 

A 
and 

B, 
AN(A'UB) 

= 

(a) AcB. 

whêre:A' represent 

Answer: 
(c): AnB 

(d) AnB= 

2010-DECEMBER 

(a) AnB-B 

(b) AUB =B 

relation. alb 
is 

nota 

symmetric 

fünction 

and 
hence, 

hÙt 
ani 

é�uivalenice 

{14] 

AcB, 

then 

which 

one 
otthe 

tolowirng 

is 
trug 

ss 
"i 

gßt. 

(3) a/b, blc: 

:. alc 

5) =5 4 

. 

(2):alb and bla 

Trán_itive 
AntisyHnmetric' 

(1) 

ala 
.. 

Reflexive 

(a) f) X+1 

(3). Transitive � divides b (2). Antisymmetric and 

(c)2 iEAnswer: 

(d) Noné.*.s 

(1) Reflexive 

(a) 
For 

a 
function 

to 
be 
a 

partial 

order 

Relation,it 

should 

be: 

Answer: (C). Symmetric relation (a)-Partiat order relation 

(a) '6. then 

fog(-2) 

equals. 

to 

g:RR 

g(x) 
= 

x*41 

(d) 

None 

of these 

(b) Equivalenice relation 

(1 mark) 

[13j 

If 
f:R’R,(x) 

=*+1, 

andonly 

ii, 
a 

divide 

b", 
then 

the 
relation 

R0s: 

[11] 

In 
the 
set 

N 
of 

all 

=ANB i AN(AUB) 

[Chapter7] 

Sets, 
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Functions 

3.379 
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Solveð 
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. 

+1-2x-2+5: 

(x+1) 

-2/x 

+1) 
+5 

x+8 

(15] 

If 
ffk-1)=x 

4x 
+8, 

then 

f (x+ 

1)= 

=A! 

satisfies th» 

above 

3 relations 

as 
fcllows 

: 

natural 

numbers 

the 

relation 

R 
defined. 

by:a 

R:b.if 



(d) 
iMany 

to 
one 

function 

from 
A 

into 
B. 

(c) 

Many 
to 

one 

fünctiön 

from 
A 

onto 
B. 

(b) 
One 

to 
one 

function 

from.A 

onto 
B. 

3-2i. 

{t mark) 

(a) 
One 

to 
one 

function 

from:A 

into 
B. 

F=(2, 

4), 
(�2, 

4), 
(3, 
9); 

(-3, 
4)} 

theri 

Fis 
defined 

as 
: 

(c) 3 (a) -1 

[1 

ItA= 
{t2, 

+3}. 

B={1,4,9} 

and 

(d)5 (b)1 

(1 mark) 

be 

T19 

10) 

3+*, 
for 

--3<x 

<0 
and 

3-2xfor 

0<'x 
<3, 

then 
Value 

of 
f(2) 
will 

: 

= 

2011-DECEMBER 

n(only 

E) 
= n(E)-n(EnM) 

X 

15 15 10 

X 

n 

Therefore, 

required 

to 
Find:n(only 

E) 
=?. 

No. 
of 

Students 

passedin 

both 

n{EnM) 

= 15s 

ii 

No.otStudents 

p�ssed 

in 
Ma�hs,n-(Ma256 

s;d.5 

X 

: fog(x) =f(g()} 

a'àiven:f()= 

/1+x² X 

and g()= 

Answer:: 

(a) Given: Answer: 

(1 mark) 

(c) 10 {a) 15 passed 

in 
English 

onty 

büt 
not 
in 

Maths. 

[16] 

There 

are. 
40 

$tudents; 

30,of-thempassed 

ia,Grnglishi-25 

of them: 

Student 

has 

passed 

at 
lèast 

in 
one 

subject. 

How 

many, 

student's 

passed 

in 
Maths 

and 

15 
of 

them:passed 

in 
böth. 

Assuming 

thatevery 

(d) 25 (b)20: 

'e:( mark) 

(a) x . 

and 
g 

(x) 
= 

Find fog ?, 

2011 JUNE 

A. 
Therefore, 

it is 
many 

one 

into 

function. 

(d) 
This 

is 
a many 

one 

function 

sinçe.multiple 

elements 

in 
Set 

Ahave 

element 

"4" 
in 

Set 

B doesn't 

even 

have 

a 
single 

pre-image 

in 
Set 

the 
same 

image 

in 
Set 
B. 

Also, 

this 
ís 

anrinto 

Answer: 

[Chapter 

1Sets 

Relations 

and 

3.382solved'Scanner 

CA 
Foundation.Paper3A(N¿w 

Syllabus) 

15 =30-15 

No. 
of 

Students 

passed 

in 
Eng. 

h(E) 
=30 

Total 

No. 
of 

Students 

n(EuN) 

=40* 

function because the 

Functions. 3.381| 



(c) 3 (a) 1 

(d) 10 (b) 2 

(1 mark) 

[25] 

The 

minimum 

value 

ot 
the 

A 

B 

(a) (AUB) =B-A 

Range 

of function 

={1,-1) 

t 

X=4 t(4)=(1)=-1: X=3 

f(3) 

Answer: 

X=1 

f(1) 

= (-1" 

=1f=N> 

N 

(d) B-A' (c) A'-B' 

(1 mark) 

(b) 
Givenf 

(x) 
= (1)e1 

(b) A-B 

Answer: (c) (1, 0} 

(a) B-A 

(a) 
{0, 

-1) 

24} 

The 

range 

of 
the 

function 

f : N 

N; 
f(x) 

=(1)*, 

is 

(1 mark) 

compliment 

of 
the 

set) 

{21] 

For 
åny 

jwo 

sets 

A 
and 

B 
the 
set 

(AUB'Y 

is 
Equal 

to 
(where' 

denotes 

(b) 

A set 
of 

lines, 

being 

perpendicular 

is 
a 

Symmetric.Relation 

(A-C) x 

(d) 
(A-C) 

= 
{1, 
2, 
3, 
4, 
5} 

-(1, 

3, 
5,) 

=(2:4). 

Answer: (c) 

Answer : 

(1 

(a) Reflexive 

(23] 
On 

the 
set 
af 

lines; 

bÇing 

perpeñdiculàr 

isaäafon.. 

(d) 
-{(2, 

2), 
(2, 
4), 
(4; 

2). 
(4, 
4)} 

{1 mark) 

(c) 
{(2, 

2), 
(4, 
2). 

(4.4). 

(4.5)) 

(b) 
{(1, 

2), 
(1, 

4), 
(3, 
2), 

(3, 
4), 

(5, 
2), 

(5,4)} 

(a).{(2,2), 

(2, 
4), 
(4, 
2), 
(4, 
4), 
(5, 

2), 
(5, 

4)}. 

C=(1,3, 

5) 
then 

(A 
-C) 

x.B 
is 

F20) 

Id 
A = (1,2, 

3, 
4, 

5), 
B= 

(2, 
4) 

and 

No. 

of 
pröper 

subset 

=2 
-1 

=31e =32:-1: =2-1 

Cardinal 

No 
n(A) 

=5 

(b) 
Given 

set 
A 
= 

(3, 
4, 
5, 

6,; 
7) 

f (2) =3-2x2=34= 

Answer: 

f (x) =3-2x Then. 

(1 mark) 

*2Li�s 0<x<3 

c) 30 (a)32 

[22}The 

numberof 

próper 

súb 

set'of 

theë 
set 

(3, 
4, 
5, 
6, 
7} 
is 

i 

3-2x if0<3. 

(a) 
f(x} 

3+* 

if 
+3k*<0: 

Answer: 

2012-JUNE 

[Chapter 

7 
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RelationsahdEunctlons: 

3383:. 
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function 

x6X 

+ 
10 
is 

=(-1)* =1 

x=2 

f(2)·= 

(-1 

=-1 

(d) 

(1, 
0, 
-1} 

(b) 

{1; -1) 

B=(2, 

4,)x 

{2, 
4} 
= 

{(2, 
2.), 

(2, 

4), 
(4, 

2), 
(4, 
4) 

Transitive 

mark) 

(d).Nonie of-thëse. (b) Symmetri�:4 (b) 

31 

* (d) 25°. 



n(POMnS) 

n 

10 

n(PUMUS) 

= 
200, 

n (m) 

100, 

n(p)'=70 

Müsic Swimminig. 

(d) Let Phötography Answer: (c) 25 (a) 30 interested 

in 
photography' 

but 
not 

in 
music 

and 

swimming? 

photography 

and 

swimming 

and 

10 
in 

all 
the 

three. 

How 

many 

are 

[26 

For 

a 
group 

of 
200 

persons,, 

100 

are 

interested 

in. 
music,.70 

in 

both 

music 

and 

photography, 

30 
in 

both:music 

aid 

swimming, 

20 
in 

photography 

and 
40 
in 

swimming, 

Further 

mor� 

40 
are 

interested 

in 

M P. 

one. 

(a) 
The 

range 

set 
of 
a 

constant 

function 

is 
a 

singletoD 

set. 

TherÇfore, 

the 
number 

of 
elements 

in 
the 

range,set 

of 
a 

constant 

function 

is 

Answer:. 

. 

(d) 20 (b) 15 

(1 mark): 

(c) Infinite (a) One 

(d) Indetèrmined (b) Zero 

(1-mark) 

28] The 

10: 

The 

10 

2012.-DECEMBER 

f()= Y+7 

10 

[from eq (1)] 

i 

Minimum:value 

of 
functiön{ 

=Y+7 
10. 

y={1,2, 3,...... 

10x 

=y+7 

y1 4y'4 

(c) 
If 

f:;R’Ris 

a furicion, 

déstinYd 

by 

Í010x. 

Qx7 

36-

40 
+ 

4y 
>0 

Let y=fi) 

(-6) 

4X1 

x(10-

y) 
>0 

Answer: 

b² 
-4ac 

> 
0 

(c) 

10 

D>0 

X+7 

(1, mark) 

For Real 

(a) 

10x-7 

a=1,b=-6,C= (10 -y) 

1 

(b) 

g) 

is 
equal 

to 
"w*'i*) 

we get 

[27] 

Iff: 

R+Risafuriction, 

defiriéd 

by 
f(X)= 

10x-7,fg),=f 

), 
then 

ax 

+ 
bX 

+C= 

0 

6x 
+ 

(10 

-y) 
=0 

**-

6x 
+ 

10-

y=0 

(a) 

Let 
x-

6x 
+ 

10=y 

Answer: 

;: (Chapt�r sets,Relations'andiFürictions 

3:385 

3:386 

70-

40-20 

+ 
10. 

n(PnMns) = n(P)-n(PiM)-n(PnS) 

(S) 

"sr 

= 
40, 

n 
(MA 

P= 

40, 
n(Ms) 

= 
30, 

n (PnS) 

=20 

number 

of 
elements 

in 
range 

of 
constant 

function is 

value of 

g(x) 

f 
(x) 

f'() = X+7 

+n(Pn MnS).:.a 

solveo 

scanner 

CAFöuñdatlon.Paper3E(New 

Syllabús) 

| 



2x 1+x2 

(c) 10 

= 

(d) 18 (b) 20 

(mar 

none of the 

) #f)=lo9 

phone, had 

Answer: (c) 3f() (a) 

(d) -f(x) Tb)2 

e(1 mark). 

2f() 

mabi<e 

phone, 

40 
of 

them 

had 

both 

a 
twO-wheeler 

and 
a credit 

a 

(33]:Of 

the 

200 

candidates 

who 

were 

interviewed 

for 
a 

positot 

al 
-

centre, 

100 

had 

a 
two-wheeler, 

70 
had 

a 
credit 

card 

and 

140r 

.=X 

: 

(31/4 
fu) 

= logthen 
=7. (49) = 49.(7) =7.72. 

An_wer: (c) xh 
ff(*)} 

= 

a-, à >0 

(d) ala 

g 
of(x) 

=g 
f)) 

(c) 

f f(x) 

= 
x+2, 

g(x)= 

7* 
than 

(a) x 

(b) a 

Answert 

32 
if f(0) 

= (a 
-x")", 

a> 
0 

and 

'n' 
isa. 

positive 

integer, 

thenf(fx): 

(c) 49 (7) (a) 7.x+2.7x 

(30) 

1 f(x) 
=X+2, 

g 
(x) 

= 
7, 

than 

gof():. 
(a) 

None 
of these 

(1 maBk): 

2013-DECEMBER 

=2 f) 

Here, 

R={(1, 

1)(2, 

2) 
(3, 

3)} 
shows 

reflexive 

R={(1, 

1) 
(2, 
3) 

(2,2)3-3) 

(1, 
2)} 

(c) 
#A 

={1, 

2, 
3} thên 

i 

Answer: (c) Reflexive 

9. (d) 

= log 

[29] 

Let 
A={1,2, 

3}, 
then 

the 
relationi 

R=(1, 

1); (2.3). 

(2, 
2), 
(3, 
3): 

(1,2)} 

2013-JUNE 

= 

1 +x2-2x |1+x?"2x 

Chaptet 

7I 
Sets, 

Relations 

and.Funetions 
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3A 
(New 

Syllabus) 

log 

three? 

and 

a 
mobile 

phone, 

and 

10 
had 

all 
three. 

How 

many 

candcaes 

both 

a 
credit 

card 

and 

a 
mobile 

60 
had 
both 

a tNO-whee 

f(x) 

fqual to: 

=fl(a -x") 

(a) If f() 

702 
=9 {x+2) 

Equivalence 1sp• 

i (fmark) 

log 



therèfore, 

this 

relation 

is 
not 

a 
function. 

:d) 

.^ince 

the 

element1" 

of.Set 

A:.does.not 

hayëari 

image 

in 
Sët 

B, 

(C) 

BÙth 

A:and 

B 

{a) 

Function 

frorm:At0:B.: 

(b) 

Fuictiön 

frömBto 

A: 

(35] 

;et 
A{1;2,3),and:B=64,7}.Then; 

thê 
relàtioD 

Rä(24) 

(3,6) 

wil 
be: 

(d).-Not a,function 

Answer: 

1mark) 

(c). Many-one into (a) One-one into 

(d) 

(t mark) 

f:N’E 

defined 

as 
f(«) 

=2x 

+ 
x¬ 

N 
is: 

2014,-JUNE 

numbers 

then 

the 

function 

[38] 

tet 
N 

be 
the 
set 
of 
al 

Natural 

numbers; 

E 
be 

the 
s�t 
of 
al 

even 

natural 

5-5-:. 

0 

2014-

(d) 
If 

f(x) 

=x*-25 
X-5. 

Answer: 

= {0) 

(6) 
The 

Range 

of 
{(1, 

0). 
(2, 
0), 
(3, 

0), 
(4, 
0), 
(5, 
0)} 

(C) 10 (a). 0 

(b) 1 (d) not defined 

(1 mark) 

Answer: (c) {1,2,3,4) 

(d) 

None 

of 
these 

[34] Iff(x) = 

(1 mark) 

X²-25 
X-5. 

= 

then f(5) is 

(a) {1,2,3,4,0} 

(37] 

The 
range 

of 
{(1,0), 

(2,0), 

(3,0), 

(b){0} 

n(mnc) 

= 

=200-190 

No. 
of 

candidate 

who 
had-ñöne 

otthethree' 

7250 

:: 

4: 

$: 

= 190 

n{mhc) 

35 + 37-50 

.=320 -130. 
= 

100 

+ 
70 

+40-

40-30 

-60 

+ 
10 

50 

35+ 37 -n(m) 

n(muc) 

n{AnBNC). n(AUBUC) 

= 
n(A)*n 

(B) 
+ n 

(C)-

n(ANB) 

-n(BnC)n(CA) 

+ 

= 
n(m).+ 

n()-n(nc) 

iË: 

n(AnQGQ10 n(An B 4t: n{A) 

n(m) 

35 

(c) 

Given 

n{mUc)= 

50 

Given 

C 

Motbile 

phone 

candidat&iR3S 

K 
BSY 

Answer: (C) 22: (a) 13 

(d) 28 (b) 15 

(1mark) 

(c). 

A’ 

Two 

wheeler 

candidat� 

:#B: Crédit cardcandidate> 

; 

Answer: dth:AChaptersets 

Rëlatiois 

and 

un
tions 

3.389 

Mathematics andCommerce are: Commerce. 

The 

númber 

of: 

such 

students--whoopted 

for 

both 

[36] 

In 
a 

class 

of 
50 

students, 

35 

3:390. 

.Many-one onto 
(b)One-one onto 

f(5) == otdained 

-does iotexdst 

DECEMBER 

10 

(4,0), (0,0)} is: 

22 

=100,.(B)70,"»h(Cj= 14Ó:;( 

n(B 
C) 

= 
30,n(CnA)= 

60, 

opted 

for. 
Mathema�ics.and 

37,opted 

for. 

sölveð 

Scanner 

CA 

Foundation. 

Papet 

-3A 
(New 

Syllabus) 



(d): 

Neither 

transitive 

nor 

reflexive 

(c), 
Tr¡nsitive 

but 

not 
reflexive 

(b) 

Reilexive 

as 
well 

as 

( mark) 

(C) 

(d)" constant : (b) one-one into 

and 
I40/ 

S=(i,2,3 

then 
therelation 

{(1, 
1). 

(2,2): 

(1. 
2). 
(2. 
1) 
is ymimstric 

kEN is 

.(421., 

4. N 
þ� 

the 
set.of 

all, 
natural.numbers 

añd 

E be 
the 

set 
of 
al 

ere 

natural 

numbers 

then 

thefuctioH 

f: 
N 

-E, 

süch 

that 
f() 

=2x10 

= 
(2, 

5), 
(3, 
5)} 

Ax 
(BnC)=2, 

3} 
x 

(5} 

2015-JUNE 

BnC 

(5} 

(b) 

A ={2, 

3}, 
B 

={4, 

5}, 
C= 
(5, 
6} 

Answer: (c) 

{(2, 
4), 
(3, 
5)) 

(a) 
{(5, 

2),. 
(5, 
3)} 

(d) 

: 1 mark) 

(b) 

(2, 
5), 
(3, 

5)} 

f(ylx) y/(y -x) 

y(x-y) -xx-y) 

-[39] 

IfA= 

{2, 
3}, 

B=(4, 

5}, 
C 

=(5;6}, 

then 

A x 
(Bn 

C)= 

X 

Hence, f<) is So 

f(x) 

is 
onto 

X 

f(ylx) = 

Y-1 ylx 

y-xy-x 

Then 

Range 

of 
f 

Even 

No. 
(E) 

X 

y. 

at 

fx)=2x: 

=2X 

f(xly) = 

xly 

yX X 

. 

So f(x) is 

(C) 
If 

f(x) 
= X-1 

fx)2x f: N+Æ: 

2%4 f(x,) =f(x,). 

=2X 

.Answer 
(c) -xy (a) xy 

[41] Iff(0)= 

= 
(2, 
4, 
6, 
8, 

10, 

(1 mark) 

E 

(b) yx 

Set 

of 
all 

Even 

No. 

x-1 Xthen 

(b)N: 

Set 

of 
all 

Natural 

No 

(i; 
2;3,4, 

5,6,7; 

8, 9, 
10.. 

Answer: 

(c) 
IfS= 

{1, 
2, 
3} 

then 

transitive 

but 
not 

refiexive. 

The 

Relation 

{(1, 

1), 
(2,2). 

2):, 
(R: 

)):0s 

symmetric 

ard 

Answer: 

[Chapter 

+7] 

Sets, 

Relations 

and 

Functions 

3.391 

-3:392 

solveo, 

scanner 

CA 
Eoundation 

Papers3A 

(Néw 

Syllabusi 

transitive 

(a). 
Reflexive 

but 
nÍt 

tran_itive 

many-one onto: 

(a)' one-one onto 

{(3, 

5), 
(2, 
6)} 

one-one onto. 

one-one 



k) 

both 

the 

games. 

ln 
all 

how 

many 

students 

can 
play 

cricket? 

A4Y 

In 
a 

class 

of 
80 

students, 

35% 

studen�sitan 

play 
only 

cricket, 

45% 

students 

can 

play 

only 

table 

tennis 

and 
the 

fremaining 

stüdents 

can 
play 

n16 

all en 

Then 

(x, 
a), 
(y, 
b), 
(z, 
d)} 

isa 

functions. 

n =80-64 

(Z, 
a) 

(z, 
b) 

(Z, 
e) 

(z, 
d)} 

80 

= 
64 

% 

(y, 
a) 

(y, 
b) 

(y,; 
c) 

(y-d): 

i: 

= 
{(X, 

a) 
(x, 
b) 

(x, 
c) 

(x, 
d) 

-AxB 

80 
=28+ 

X #86 

XX 

= n(A) 

+ 
n(B) 

+n(B)R(ANB) 

= 
{x, 
y, 
z} 
x 

{a, 
b, 
C, 
d} 

n(AUB) 

We know that, 

B 

= {a, 
b, 
, 

d} 

(b) if A 

= 
(36 

+ 
x) 

= 
(x, 
y, 
z} 

Answer: (d) 

fa, 
z), 
(b, 

y), 
(c, 
z), 
(d, 

x)} 

= 36 

(1,ma�k) 

(B) n(B) -x 

n(B) 

-n{ANB) 

= 
36 

nBnA) =. 36 

(c) 
{(x, 
c),. 

(z, 
b), 
(z, 
c)} 

(b) 
{(x, 

a), 
(y, 
b), 
(, 

d)} 

100*80 

(a) 
{(x, 

a), 
(x, 
b), 

(y, 
c), 

(z, 
d)} 

45 

nBoA) 

= 45% 

of 
80 

-the 

set 
A 

to 
see 

Bis 

a'Tunctioi? 

(43] 

If 
A={x, 

y, 
z}, 

B={a, 

b, 
c, 

d}, 
then 

which 

of 
the.following 

rel�tion 

from 

No. 
of 

students 

who 

play 

orily 

Table 

Tennis 

n{A) -x 
n(A) 

2015-DECEMBER 

(Ö) 

f%,) 
= 

f(x) 

then, 

function is;oneohe pnto:: 
() 

Range 

of 
function 

(R) 

E 

f(3) =2x3=6 f(2) =2 x24 f(x) = 2x f:N E f(1) =2x1 =2 

n(A)-nANB) =28 

n(AnB) = 
i.e. n(AB) 

nAnB) 28 

Let 
no. 
of 

students 

whò 

pläy 

No. 
of 

person 

who 

play 

only 

Critket 

both.Table 

Tennis 

and 

Cricket 

=X 

100 
80x 28 

=X 

n{AUB) 80% 

(b) 

Total 

students 

in 
the 

class 

= 
80 

Answer: 

E 

{2, 
4,6, 

8, 

(a) 

N 
={t, 

2, 
3, 
4, 

(c). 36 (a) 55 

(d) 28 (b) 44 

(1 mark) 

Answer: 

3.393 

3.394 

Rur[Ghapter7|Sèts, 

Rel�tions 

and 
Fün
tlons 

Solveo 

Scanner 

CA 
Foundation 

Paper-

3A 
(New 

Syllabus) 

= 
28 

+ 
X 

28 



02461-0,1,2, 3,4, 5) 

8 

(a) IfA 

Domain and 1(),2+ 

=2-(x+ 
Real Number:e' ss 

Answer: 

) 

c) Set B (a) 

(a) 

Given 

function 

,*S, 

(d) 

then Ai 

(1 mark) 

Answer: 
D= 

Real 

numbers, 

R={-o, 

2'1-i9 

and G = 

(o). 
D= 

Integers 

R = 
(E, 

o). 

B= 

x:is 

one 
digit 

prime 

number, 

(b) 
D=Integers, 

R 
= 

(0, 
2) 

(a) 
D= 

Real 

numbers, 

R=(2,oo) 

fset 
A = 

éz 
0<x¢10; 

[48] 

The 
domain 

(D) 
and 

range 

(B) 
of 

the 
function 

f(x) 
=2-*14;i9 

Ifx 
¬ 

A, 
yE 

A then 

xy 
¬ 
A 

2016-JUNE 

A={1,4,9, 16, ....... A={1,2,3, 4, 

34*? 32+2 

(d'Let 

A'be 
the 
set 
of 

square 

of 
Natural 

Ng. 

:: 

2x16.+2 

ADswer: 

fog(4) 

= 
.2(4 

+2:: 

then 

{d) 
xý 
E 
A 

242 

fog() 

(b). X÷YE AnT= 

Hg0): 

(a) X+ YEA 

[471 

Let 
Abe 

the 
set 

ofsquares 

of 
hatüralnumbers 

aDit 
iet 

xÉA, 

yEA 

E 

(c) 
f() 

=2x 

+2 

and 
-gStis 

Añiswer: 

=:2.3} 

An(BNC) = 

(c). 34 

:)128gi (1mark) 

BNC 

= 
2, 
3) 

(a): 18 

-[45] 

If f(*) 
=2x 

+2 
and 
g(x) 

= 
x, 

then 

the 
v�lue 

of tog:4is: 

= {1,2,3, 4) 

=28 +16=44 

3'3'3'3 
(36-9. 12) 

i.e. n(AnB) 
n(A}'= 28+X 

=16 

No. 
of 

students 

who 

play 

cricket 

andC 

: 

= (2,3, 5,) 

B 

x:x 

is 
one 

digit 
prime 

number} 

13. 

-[Chapterm7|Sets, 

Relations 

and 

Functions: 

3395: 

33961Solveð 

S
äLner.CA 

FOundation 

Paper 

3A 
(New 

Syllabu 

1] 

SetO, 
{b) SetA 

(BnC) 

is 
equal.to 

i. 

(0, 1;2, 3, 

4;5} 

n(2 



(a)700 

1: 

(c) 

(d) None ofthese 

(1 mark) 

*²+1 

x100x 3. 

X 

S.E6) 

(50] 

The 
inverse 

function 

f" 
of 

f(x)=100xis: 

f 

X 

So, 
rangê 

of 
function 

#Bso 

itis 
into 

function. 

X=log 

2y. 
[log 

is 
not 

valid 

valueif.y 

is 
negative] 

Answer: 

log 
y'= 

x 
log2 

log 

y 
log 
2* 

(a) x <x< 

-1 

(b) x:Sx* 

-1 

(52] 

The 

range 

of 
function 

f 

f(x) = 2x 
and so, 

f(x) 

=2* 

is 
one-one 

2017 -JUNE 

=32 

Now, f(x,)=f(%) f(x) 

=2andf 

(x)= 

2? 

No: 

of 
subset 

= 
20 

i 

n(Aj5 

Answer:. 
(c) m¡ny-one into 

(d) mañy-one onto 

(a) one-one onto 

(c) 'A 

(b) one-one into 

tmark) 

Answer: 

f(x)=2 

[49] f 

(c), 32. 

ALHB,D:y:": deiteie 
= 

Set 
of the 

letter 

of 
the 

word. 
AAABAPi 

Xoi(1 

(a) 128 

(d) 64 (b) 16 

5Y 

The 
number 

of 
subsets 

of 
the 
set 

formed 

by-the 

word 

All­h¡bad 

is: 

2016-DECEMBER 

100 

Dormain 

= Real 

Nö, 
Rang� 

=(-o, 

2) 

So Range 

f(y)y 

100 

X=1-y 
X=2-y 1 

X+1,=2-y 

+ 
Ve 

sign 

taking 

X=y2-1 ;X*1=2+y 

1) =2-y 

Nve �ign, 

y.=100 x 

=2:y! =2yi, 

(a) 

Given 

f(%) 

=100 

x 

[x+1] 

88 

Answer: 

sstál 

OhapterH 

ASatsaRelationgand 

Eunctions 

3!397: 

3398 

Soloës 

seähner 

CÁ'Foundatiön 

Papër:3ANew.Syllabus) 

defined by f(x) 

R is the 

set 
of 

alf 
real 

numbers, 

then:th� 

tånction 

t: 
RR 

defined 

by, 

mark) 



1 

(c) 1-x (a) x-1 

(d) -X (b) X 

fmark) 

i8X +2) (5x +3) 

1 +2x 
(1 *23) 

1+X+1 +2x*U!i 

[54]. 

f 
f(x) 

= 
X+1 

and g(x) = 

1 

then 

(fog) 

() 
is 

equal 

to: 

1+x. 

= 100 = 140-40 

1+X) 

n(AUB) 

= 
n(A) 

+ 
n(B) 

�n(AnB): 

80+ 

60 

� 
40. 

X 1 
+2 

n(A) 

= 
80, 

n(B) 

= 
60, 

n(AnB) 

= 
40 

X 

(a) 

A =Hindi, 

B= 

English 

1+2x 
1 +X 

1 
+1: 

Answer: (c) 180 

X+2 

(d) 60 

(1 mark) 

(c) 
Givern 

fx= 

X+1 

(a) 

100 

(b) 140 

Answer: (c) 

5x +3 3x+2 

(d)-5x+2 
2X+3 

(a), 

3x+5 2x+3 

(b) 

3x +2 2x +5 

X+2 

2017 DECEMBER. 

-1-4y'0 

(1-x} 

X= 

1 

2y 
lz/1-4j2 

2.y. 

1 

X= 

1 

-(-1)+/(-1-4xyxy 
a=y, b=-1,c=y yx x+ y=0 

log. (3) 

A{g0) 

1: 

yx' +y=X 

(b) 
Given 

f(x) 
=and 

gx)= 

1-x 

Answer: 

[Chapter.Sets, 

Relations 

and 
Functlohs 

3:399 

3:400 

Solvëð 

+x+24X 

[53] 

In 
a 

group 

of 
students 

80 
can 

speak 

Hindi, 

60.can 

speak 

English 

and 

40 
can 

speak 

English 

and 

Hindi 

both, 

theH 

number 

of 
students 

is: 

CA'Foundation PapÇri 

Scähner 



si) 

2x 

f(3) =2x3=6 

VXEN 

No. 

of 
families 

which 

buy 

Newspapets 

tA 

ônly 

: 

si. 

 :N’E: 

n 

N={1,2,3, 4,5,6 E{2,4,6,8*hi.oo 

Answer: (ç) Given (c).One-one onto (a) Öne-on�-into 

No. 

of 
families 

who 

buy 
all 

newspapers 

(d) 'Many-one-onto (b) Mány-on�-intö 

mark) 

n(Cn 

A) 
= 

4% 

of 
20000 

=800 

No. 

of 
families 

who 

buy 

Newspapers 

C&A 

n (Bn 

C) 
=3% 

of 
20000' 

= 600 

F:N 

Edefined 

as 
f(x) 

=2-VxEN 

0S.=, 

No. 
of 

families 

who: 

buy 

Newspapers.A 

& 
B: 

numbers 

then 

the 

function;: 

[57] 

Let 
N 

be 
the 
set 
of 

all 
nätuYal 

numbers; 

E bÃ 
the 
set 

ofall 

evenr 
i'natural 

n(C) 

= 
10% 

of 
200002000 

No. 
of 

families 

whobuy 

NewspaperG 

.nB) 

20% 

of 
20000 

4000 

:2: 

.',,. 

i 

2018--MAY 

No. 

of 
families 

who 

buý 

Newspaper 

'8 

=5 

n(ANB)=24 + 

n(A) =40% of 

(a) 
Totatl 

Families 

n(u) 

=20000 

35 
=24 

+ 
16-n(A 

n 
B) 

(d).. 600 

n(AnB) =? 
n(A) =24, 

(1 mark). 

B + Football 

Answer: (c). 5600 (a). 
6600 

of 
families 

whichi 

buy 

A 
only 

is: 

A 
and 

C 
if 

2% 
families 

buy 
all 

the 
three'nêwsp�pefs, 

then 

the 
number 

hewspaper 

C, 5%% 

families 

buy 

A 

(a) 
Let 

A’ 

Cricket 

Answer: (c) 19. (a) 5 How 

many 

students 

like 

to 
play 

both 

cricket 

andfootball? 

football. 

Also 

each 

student 

likes 

to 
play 

at 
leastone 

of 
the 

(56}, 

iln, 
a 

classof 

35 
students; 

24:liketo 

play 

çricket 

and: 

16-ike 

to 
play 

(d) 8 (b) 11 

(1 mark) 

So 
f(x) 

functión 

is 
one-one 

and 

one 

to. 

and 

f(x) 

= 
f(%) 

two:gämes. 

Rangè 

of function= 

{(2,4,6,.:.... 

*. 
. -0.: 

=[Chapter:o| 

Sets,Relations 

and 
Fünctionss33401 

3402! 

Ssies 

SeasnërCRFoüñdation'Pápef 

3ANew 

Syllabus) 

F2) =2x2 =4 f(1)=2x1=2 

(AABn)=2% of:20000 400 

No. 
of 

families 

who 

buy 

Newspapers 

B 
&C 

n (AnB) 

= 
5% 

of 
20000 

= 
1000 

1635 

20000 =8000 

No. 

of 
families 

whó 

buy 

Newspapers 

"AM4 

: " 
0 

n(B) 

= 
16, 

n(AB) 

=35 

and-B, 

3% 

byy 
B 

and 

Cänd 

newspaper. 

A, 
20% 

families 

buy'newspaper 

B 
and 

10%Tämiljes 

buy 

a 
town 

of 
20,000 

families 

it 
was 

found 

that 

40%familjes 

buy 

4% buy 



n (A-B) 

=4 

Ránge of 

f(4}i(4)3916: 

A-B 

(1.3,5.7a 
1,2,3,4,5,6,7}246,8) 

B 

-(2) = (22=nii. f(1) 

(a) 
-Given 

A 

= (2,4,6,8} 
i:={1,2,3,4,5;6,7* 

; 

Iff: 

Answer: (d)7 

B={14,9,16,25) A={1234}.: 

(c) 9 

(b) Given 

(nai 

(b) 3 

Answer: 
. (c) 

{1,4,9,16,25)-" 

, 

idi(d)::Nóne 

of 
theset 

(1 
mark) 

[62] If A= 

(a) 4 

(a) {1,2,3,4) to 
B 

where 

f(x) 
=x 

then:the 

range 

oí:fis::. 

.i: 

[60] 

A 
is 

{1,2.3,4) 

and 
B 

is 
{1,4;916,25)itäfunctionit 

is 
�efined 

fromi 

set 
A 

.3: (b){14,9,16s" 

2=16. 

No, 

of Relation 

from 

A and.B=2, 

mxn 

2018-NoVEMBER 

Shortcut A 

B=(3,4),n (B)=2 A 

=32-1: 

No. 
of 

relation 

from 

A and 
B: 

2 

= 16 2 

No. 

of 
proper 

subseto 

2 

n(AxB) =4 

n(A) =5 

KSGiven. 
(c) 30 Answer: 

AxB 

={1,2} 

x 
(3,4} 

={(1:)41.) ;9)24A 

(b). Given 

*itc K! mark) 

(a) 32 

Answer: (d): 6 

A ={1;2} 

{59)-

The 

nümbèrs 

of 
proper 

sub 
set 
of 

the 
set 

{3,4,5,6;7)}is: 

§ 

=6600 

(b) 16 

=8000-1000-800+ 400 * =n 
(A) 
-n 

(AnB)�n(AAG)+n(A.n.Ba 

C) 

21stnésolChaptet.a 

1 
Sets,Relatlons.and.Functi 

nsa03!| 

3:404; 

sölöet 

scannërCAFouidatiohiPaper3A(Neo 

the 
numberof 

re relations 

167 

f={14,:16}:isauhit eisiat :. 

=*;* 

A-+ 

B 
and 

() 
=: 

{1,2,3,4,5,6,7) 

and 
B 
= (24,6,8). 

�ardinal 

number 

of A -B5 

litër 

={1,2}.,n (A)=2 

IAA2}andB={3:4}: 

Deterñine't from Aay 



(A-B)UC 

={2, 
6, 

9}U 
(2, 
6, 
8} 

=2,6, 8, 9} = (2,6, 9} ={1, 
2, 
3, 
4, 
5, 
6, 7, 
8, 

9)-1,3, 

4, 
5,7, 

8) 

fog (x) 
(a) 

Given, 

f(x) 
= x* 

and 
g(x) 

= 

=( =f{/X} =fg ()) 

-B 

(c) 

A ={1, 
2, 
3, 
4, 
5, 
6, 7, 
8, 
9} 

B 
{1, 
3, 
4, 5, 
7, 

8), 
C= 

{2; 
6, 
8} 

Then 

Answer: (d) 
go 

f(-9) 
=3 

(c) 
go 

f(9) 
=3 

mark) 

(b) 
go 

f(:3) 
= 
9' 

-

Answer: 

(a) 
go 

f(3) 
=3 

(d) None 

(67] 

If f(x) 
= 
* 

and 
g(x) 

= 
x 

then 

(c) 

{2, 
6, 
8, 
9} 

A*j: {1 mark) 

(b) 
{2, 
6, 
8} 

(a) (2,6} 
B= 
{1, 
3, 
4, 5, 
7, 

8}; 

C={2,.6,8).Bhen 

find 

(A+B)}C 

No 
of 

Subset 

= 
2 

=8 =2 

n(A) =3 
(b) 

Here, 

A= 
{3, 
4, 
5} 

[64] 

f 

A={1,2, 

3, 
4, 

5,.6, 
78. 

9} 

Answer: (d) 32 (c) 16 

(1 mark) 

2019-JUNE 

(b) 8 (a) 4 

[66] 

The 

no. 
of 

subsets 

of 
the 

set 
(3,4, 

5} 
Is 
:: 

9,;a, 

D. 

Domain 

of 
R"=(5, 

4, 
3, 

2,1} 

4 

R'={5, 

5) 
(4, 
6) 

(3,7) 

,8)(1; 

ig £!* 

R{(5,5), 

(6; 
4), 
(7, 

3): 
(3:29;)b: 

4$ 
iiki. 

3 2 

Many onë funciön 

(a) 

Given, 

A={1,2,3,d: 

e 

i 

Answer: 

A 

B 

(d), None (c) 
{1,2, 

4, 
5,6, 
7} 

(c) 
{(1,2) 

(2,2) 

(3,2) 

(4.2)) 

is 
the 

function.: 

(6) 
{0, 
3, 5, 
7, 

9}. 

Answer: (c) 
((1,2), 

(2,2), 

(3,2),(4,2)} 

(d) 

None 

of.these.. 

A 
int:: 

mark) 

(a) 
(1,2, 

3, 
4,5} 

(a) {(1,1);(1,2), (1.3)} 

(63] 

ldentity 

the 

fünction 

from 

the 
following: (b) 
{(1,1), 

(21), 

(2,3)} 

j 

X >:\} 

then 

dormain 

of 
R: 
is 

(85] 
A 

={1234,.10) 

a relation.on 

À, 
Ra{x 

yW 

405. 

SolveoScänner 

CAFOundation 

Paper-3A 

(New 

Syllabus) 

i[Chapter71Sets Relations andFuhcions 

x*y10EA, YE A, 



(1 mark) 

(1 mark) 

(c) A! (b) A (a) A. 

[69] 

(d) x (c). 

-1 

2019-NoVEMBER 

711 
(b) 1/(y -1) 

find f () 

S 

C 

f(7) = 13 f(7) 

= [3 
+2+3] 

+ (3 
+2] 

f(7) 

= [f(4) 

+ f(3) 
+ 

f(4)] 

+ 
(((4) 

+ 
f(3)] 

ii)= 

[t(5) 

+ 
f(4)] 

+ 
[f 

(4) 
+ 

f(3)) 

b 

f(7) 
= 

f(6) 
+ 

f(5) 

: 

A 

B 

is 
a 

function 

from 

A to-B 

Similarly, f(4) 

= f(3) 
+ 

f(2) 

= 
2+1=3 

f(3) 

f2) 
+ 

(1}'=1+1=2 

=f(3) 

f(2) 
= 

f(1)+ 

f(0) 
=1 
+0 
=1 
= 

f(2). 

(d) 
f(n) 

=f(n-1) 

+ 
f(n-2) 

R=(a, 

p), 
(6, 
), 

(c, 
à). 
(d, 
s)} 

Answer: 

B={p, 

g, 
, S} 

(d) 13 

(d). 
lf 

A= 

fa,b;C; 

d} 

{ 

ir 
2d 

(c) 8 

Answer: (d) R,{(a, 

(b)} 5 

(1 

(a) 3 

(C) 
R={b, 

pl, 
(C 

s),(G)F. 

4,5 

i 

(b) 
R{p; 

a), 
(6,.(d,'s)j* 

(79Y (n) =i 
f(1) 

= 1 
then 

f(7) 
=? 

2) 
wheri 

n' 
2, 
3, 
4 

(a) 
R, ={(a, 

pl, 
(b,). 

f(0) = 0, 

function 

from 

A toB 

-68) 

f 
A 
= 

fa, 
b, 
c, d}; 
B 

=P, 

4, 
, S} 

which 

of 
the 

tollowing. 

relatjon 

is 
a 

(AT >=A 

gof (3) gof (x) 

=3 =X 

A=2 4 
|1 3|:: 

.=. (x* =g x 

Example A= 

4 

änd 
gÓf 

()àtj)RM 

:t) 

(a) (A!= A: 

fog. (x) 

Answer: 

tChapterASets Relatinsand Functions3,407 

3408 

Solveð 

ScannerCA 

Foundation 

Paper 

3A{New 

Syllabus) 

(A)! 

=?. 

fo) 

X+1 

(a) 1/(%-1) 

p), (b, r 

(C 4 

f0,5)): 

mark) 

(c, 
s)) 



X=6, 

V=3 

mark) 

Option 

(a) 
is 

satisfied 

eq 
(1) 
so 

2% 
= 

2Y 
+ 

56 

(1 mark) 

According the question 

(d) 1/y (c) -3y 

No. 

of 
Zubset 

of 
A 
= 
2 

and 

No. 
of 

subset 

of 
B 

2 

Given 

n(A) 

= 
x 

and 

n (B)=y 

(b) y/3 (a) 1/3y: 

(a) 

Let 

A 
and 

B 
are 

two. 

set 

[75] 

The 

inverse 

function 

f 
of 

f(y) 

= 
3y 

is: 

Ånswer: (d) 

3 and 

6 

(c) 2.and 4 

(1 mark) 

because 

Natural 

Number 

is 
tntinite." 

(c) 
The 

set 
of 

cubes 

ofthe 

Natural 

Numberislñfinite 

Sèt.? 

Answer: 

(b). 

4 
and 

2 

(d) 

A 
finite 

set 

of 
three 

numbers 

(1 mark) 

(a) 

6 
and 

3 

(c) An infinite.set 

subsets 

of 
the 

second. 

The 

value 

of 
x 

andy 

respectívely. 

number 

of 
subsets 

of 
the 

first 

is 
56 

more 

than 

the 

total 

number 

of 

721Awo 

finite 

sets 

respectively 

have 

x 
and 

y 
number 

of 
elenents. 

The 

total 

:b)A finite. set 
(a) A.null set 

|741: 

The 

set.of 

oùbe's 

of. 
the 

naturäl 

numbÃr 

ia: 

2020-NoVEMBER 

f () = 

-1) 

= 108 =124-16 = 40 
+32 

+ 
50 
-

4-7-5 

+2 

-n 
(BnC) 

-n 
(CnA) 

+ 
n {ANBAe) 

1 

n(AuBUC) 

=n(A) 

+ 
n (B) 
+ 
n (C) 

n(AnB) 

1, 

We know that: 

n(AuBUC) =? 

X= 

(y-1) 
1 

0, 

n.(AnB'c) 2 n (GnA) =5 

X(y-1) =1 

n(C) = 50 n(B) = 32 

n (BnC) =7 

Xy.-X 1 

(c)Given: 

n(A) 
= 

40 

n (AnB) =4 

Xy 
= 

X+ 

1 

Answer: 

X 

(d). 84 

(1 mark) 

Let f(x) =y X=f"(y) 
Further Solving 

Eqüatioh (1) 

(c) 108 (b) 65 

(a): f(x) = 

X 
X+1 

-Equatton (1) 

(a) 110 all 
the 

sets 

2. 
How 

many 

are 

in 
only 

one 

set? 

is 
50; 
in 

both 

A 
andB 

is 
4, 
in 

both 

A 
and 

C is 
5; 
in 

both 

B 
ändCis7 

in 

[73| 

setC 

Answer: 

3.410-*SoltesiheöA 

Päper-3A(New Syllabus): 

(udsit 

(GhapterSetsi 

R�lationsand 

Furictions3.409 

The-number 

of 
items 

in 
the 
set 

A 
is 

40; 
in 

the 

set 
Bis 

32; 
ii 

the 
se 

FUndatiÑ BaperEN 



f(x)=2 for 1<x$3 

3x for Xs1. 2X for X>3 

äre 
5, 

10, 
15-i100 

Number 

which 

is 
divisible 

by 
5 

from 

10 
to 

100 

Lét F:RR be 

let 
n =n(a) 

= 
33 

3.3 

Answer: 

t n 

(d) 
Parallel 

to 
a 

reflexive 

relaton..: 

;:k: a(1mark) 

(c) 
Perpendicular 

to 
is 
an 

equivalençe 

relation: 

Here 

a =3, 

d=6-3 

=3,I 

=99 

n=a+d_99-8-2. 
ar� 3,6,9,-99 

(b) 
Perpendicular 

to 
is 
a 

symmetric 

Ac 

Numbers 

which 

is 
divisible 

by 
3 

from 

1 
to 

100 

(a) 
Paralel 

to 
an 

equivalence 

relation 

TAUE'? 

[77.In the 

Answer: (d)-33, 

(1 mark) 

(c) 45 

Natural 

Number 

is 
Infinite. 

(c) 
The 

set 
of 

cubes 

of 

Natural;Number, 

is 
.an 

(b) 55 

Answer: (d) Singleton Set 

(1mark) 

a094by 5nor,by7 is 79The 

nümber 

of 
integers 

from 

1 to 
100 

which 

are 
neitherdivisible 

by3 

(c) 
An 

intinite 

set. 

=9 

(b) 
A 

finite 

set 

{a) Null set 

=-3 + 4+8 

[76] 

The 

s�t 
of 

cubes 

of 
natural' 

nümber 

is 

Now and 

4 
lies 

b/w 

n 
>3 

then 

f(x) 

= 
2x 

Now 

2 
lies 

b/w 
1< 

X<3then 

f(x) 

= 
x* 

{-1) + 

2021-JANUARY 

(-1) 
lies 

X<1 

then 

(3x for x<1 
f 

f(x)=3x 

(2x 
for 

x 
>3 

a) Here f:R 

R 

3 

X=3y 

(d)- 6 (c) 5 

(1 mark) 

(b) Given fy)=3). 

Lett (y) =xy=f) 

Answer: 

(bj1 (a) 9 The 
value 

of 
f-1) 

+ 
f(2) 

+f(4) 

is 

[Chapter 

1Sets, 

Relationis, 

añd 
Fun
tiöns. 

3411 

3.4129 

solved 

Scanner 

CAFoundationRaper 

3A.(New 

Syllabus 

defined by 

(c) 
'Perpendicular 

to' 
is 
an 

equivalence 

relation' 

which 

is 
niot 

tr°e. 

rYlation 

set of 

all straight 

linés on 

a plane 

which of 

the 
following 

is Not 

infinite 

setibecàuse i 

f(2) + 

f(4) f(4) =2.x4=8 {(2) =(2)°=4 f(-1) 

=3 
x (-1) 

=3 

(x)= 
(x 

for 
1< 

x<3 



= 45 
= 100- 55 = 100-[67-12] 

’ Let 
y 
= 

X-2 

= 
100-

(33 
+ 

20 
+ 

14 
-6 

-24+0 

+n (AnBnC)] 
= 

n(u)-

[n(A) 

+ 
n 

(B) 
+ 
n (c) 

-n(AnB) 

n 
(BnC) 

-n 
(CnA) 

(c) 
Given 

f(x) 
= 
X 
2 

X-3 

=n(u) -n(AUBuC) 

Answer: (d) -1 

(1 mark) 

ark) 

=n AuBC) 

(c) 1 (b) 3/4 

= n ArBri� 

(a) 2/3 

Nos. 

which 

are 

not 

divisible 

by 
3, 

nor 
by 
5, 

nor 
(7) 

defined 

by 
f(%) 

= 

. What 

is 
the 

value 

of 
f 

n AnBnC).= 0; 

o 

Nos. 

which 

is 
divisibl� 

by 
3,5 

and 

105)e 

:i 
1' 

[81] 

LetA 

= 
R-{3) 

and 
B=R 

-{1}. 

Let 
f(x) 

B 

nA) =4 
are 

21,, 

42,.63, 

84 

Number 

which 

is 
divisible 

by 
7 

and 

3 
(=21) 

: . 

Range 

of 
function 

=-4,4} 

+42y 

n(BnC) =2 
arè 35, 70 Number 

which 

is 
diyisible 

by 
5, 

and 

7 (=35) 

y 

x= 16-y² 
=16-y 

16 

16-

y2 
2 
0 

y 16 
on 

squaring 

both 
side 

Number 

whichi 

is 
divisible 

þy,3and_5 

(15),# 

15, 

30, 
45, 

60, 
75, 
90 

d 

0-+¬i A: 

y=16-² 

(b) 
Here 

f(x) 
= 

/16-x² 

let 

n =n{C) 

= 
14 

Answer: 

2"n=a+d 

d 

98-7+7 

=14 

(d) (+4, 4] (c) [0, 4] 

(1 mark) 

a=7,d= 14 -7;=7,l=98 

(b) (-4, 4] 

are 7, 14,21 Number 

which 

is 
divisible 

by 
7 

from 

1 to 
100 

--98 

it 

n=n(8) = 20 

(a) (-4, 0] 

18O] 

na+d=. 

a+d_ 100-5 +5 

=20 

2021JULY 

[Chapter 1Sets; Relations. 

3414|Solöed 

Scäh�r 

CAFoundation 

Paper 

-3A(New 

Syllabus) 

A 

y(x-3) = x-2 

X-3 

The 
range of 

the 
function F 

defined by 

f(x) = 

16-x² s 

and.Eunctións ICk3.413.1 



Therefore, 

fog(3) 

-gof(-3) 

= 
80-19 

= 61 

gof 

(-3) 

= (2 
x 8)+3|=|16+3|= 

|19| 

= 19 

Now, 

gof.(-3) 

= 
g 

f(-3)] 

= 
|2 
x 

(f-3)}} 

+3| 

f-3) 

= 
-3}�1 

=9-18 

Let's calculate f(-3). Similarly, 

gof 

(-3) 

=g[f(-3)J 

’ 
fog 

(3) 

= 9-

1 

Be x, 
(a) 

Let 
the 

number 

of 
teachers.teaching 

both 

P'ysics'ànd 

Chemsty 

Answer: (d) 6, 4 

(1 mark) 

-Now, 

fog(3) 

=flg(3)] 

= {g 

(c) 4, 

Let's calculate g(3). fog(3) = fig(3) generate 'only 

(a) 2, 3 teach 

Chemistry 

and 

Physics; 

how 

many 

teach 

onty 

Physics? 

Physics 

but 
none 

teach 

both 

Mathiermatics 

and'ChÃmistry. 

How 

many 

teach 

Physics 

and 

7 
teach 

Chemistry. 

4 
teach 

Mathematics 

and 

(84] 

Out 
of 
a 

group 

of 
20 

teachers 

in 
a 

school, 

10 
téàch 

M·theimatics, 

9 

Answer: (d) 51 

(1.mark) 

(c) 41 (b) 61 

2021 -

{a) 71 

[82Y 

If 
F()=*-1 

and 

g(x) 
= |2x 
+ 

3|, 
then 

Fog 
(3) 

-9of 

(-3); 

n(AnB) 

= n(U) 

-n(Au 

B) 
= 

650-

405 

= 
245: 

i 

n{Au 

B)=310 

+ 190 

� 
95 

=405 

-1 

n(Au 

B)= 
n(A) 

+n 

(B}nA'n:B)i. 

Therefore, fa= 

-:1 

(d) 
n(AnB)= 

n(Av 

B)'= 

n(U)-n(AuB) 

Therefore, f"() = 

X-1. 

Answer: (d) 245 

3x-2 

(1 mark) 

y-1 

(c) 300 (b) 200 (a) 400 

’x(y- 1) =3y-2 ’Xy-X= 3y-2 
xy-3y = 

n(A) =310 

(831 

Let 
U 

be 
the 

universal 

set, 

A 
and 

B 
are 

tne 

_uosets 

of 
5.f 

n(UE 

50 

complement 

of 

***a . 

ehapterASets;Relations,And Functions 

3.415 |3.416 

3A Sölveð Scanñer 

=81-1 =80 

(3)} �1. * 

g(3) 
= 

|(2x3) 

+3|=|6 

+3| 
= 

|9| 
=9 

6 

(b) 3, 2 

positive values. 

(b) 

The 

function 

g(x) 

is 
a 

modulus 

function. 

It 
means 

that it can 

DECEMBER 

x-2 

A 
and 

B 
respectively): 

nAnB) = 

95 
and 

n(B) = 

190, 

then 

nANB)IS equal 

to 
(ÄadB 

are 
the 

i; . 

CA:Foündatio 

Paßer (New Syllabus) 



(d),equivalence relation (c) 

transítive, 

reflexive 

but 
not 

symmetric 

(b) 

symmetric, 

transitive 

but 
not 

reflexive 

(1-mark) 

Relation, 

it' is 
añ 

Euivalence 

Relation. 

Since 

this 
relation 

isa 

Refle~iv�, 

Symmetric, 

as'wëil 

'as 
a 

Transitive 

(a) 

symnetric, 

reflexive 

but 
not 

transitive 

(g) 
Therefore, 

this 
relation 

is 
a transitive 

relation. 

() 
Also, 

(a,.c) 

¬ 
Ras 

2:-
10 

-8, 

which 

isan 

eveninteger. 

try 

integer. 

This 

relation 

is 

[851, 

Ifa.is 

telated 

to 
b.if 

and 

only 

if. 
the:difference 

:in:åand 

bis 

­n 
even 

(d) 
Clearly, 

(a, 
b) 

ER 

as 
2-6=-4, 

which:is-anreven-integer. 

e) Also, 

(bË 
c) 

Ras 

610*4, 

which 

is 
án 

even 

integer. 

k) 

Number 

of 
teachers, 

teachíng 

only 

Physics 

=9-24 

=3 

(c) 
Now, 

a =2; 

b 
=6; 

C= 

fo 

Chemistry = 2. Therefore, númber of 

respectively. 

-(b) 

Take 

the 

values 

ofa, 

b. 
and 

c 
to 

be 

2, 
6, 

and 

10 

X=22-20 =2 22-x = 20 

R. 

(a) 

A relation 

is 
transitive 

if 
(a, 
b) 
¬ 

R, 
and 
(b, 
c) 
e 
R 

(a, 
c) 

. 

fy 

94+7+ 

4 
+6-X+ 

X-X=20 

3. 
Check 

for 
Trarnsitivity: 

(9 

9-x-0-4+X 

+7-x-0-0 

+4+0+0 

+6=20 

teachers teach.at least 

() 
Therefore, 

this 

is 
a 

symmetric 

relation. 

(e) 
Therefore, 

(2, 
6) 
¬ 

Rand 

(6, 
2) 
E 

R. 

(d) 
Ålso, 

6 
-2.= 

4, 
which.is 

an 
év¹n 

integer. 

(c),Here, 

?-6 

4, 
whichs:an.even 

4teger. 

(b) 
Take 

two 

integers,2 

and 

6. 

(a) 

A relation 

is 
symmetric 

if(a, 

b) 
E 

R(b,a) 

¬ 
R. 

Matherredics, 

2.. 

Check 

for 

Symmetry: 

hence, 

this 

is 
a 

reflexiv� 

relation. 

(e) 
Therefore, 

any 

element 

can 

h¡ve 

a 
relation 

with 

itself, 

and 

10-4-0-0=6 

(d) 
2-2=0, 

which 

is 
an 

�ven 

integer. 

relation with itself. a reflexive 

relation, 

this 

eBement.2 

would 

häve 

to 
have-a 

(c) 
Take, 

for 
example, 

the 
number2. 

Now, 

tor 
this 

relatioHto 

be 

0-4 

between 

the 

elements 

is 
an 

even 

integer. 

(b) 
In 

this 

question, 

the 
relation 

exists 

only 

if 
the 

difference 

Prhysics 

itself. 

(a) 
A 

relation 

is 
reflexive 

if 
every 

element 

hasa 

telation 

with 

Ceristy 

(d) 

1. 
Check 

for 

Reflexivity: 

Answer: 

3.417 

3.418 

f 

Solveð 

Scanner 

CA 

Foundation 

[Chapter 

7] 
Sets, 

Relations 

and 

Functions 

teachers teaching both 

Physics and 

one 

of 
the 

subjects. 

Therefore, 

.In 
the 

absence 

of 
information, 

it 
is 

safe 

to 
assume 

that 

all.the 

Paper-3A(New Syllabus) 



(c) Reflexive only (a). 

Reflexive 

and 

Transitivesh)R�filexiv� 

and 
Symgetrie. 

d)., 
Ap 

equiv�lence 

relation 

(1 mark) 

It is a: A= 

d3 and 4 (c). 2and 4: 

(1 mark) 

(b) 
4 

and 

2 

(a) 
6 

and 

3 

2022 -JÜNE 

The 

value 

of 
x 

andy 

is: 

* 
SUbsts.of.tirst 

js 
56 

more 

than 

the 

total 

number 

of 
subsets 

of 
seconu. 

89] 

Two 

finite 

sets 

have 

x 
and 

y 
number 

of 
elements. 

The 

total 

number 

or 

-u'() = 1 

-1 

1 

-1 

u' 
(x) 

= 
X-1.; X 

-1 

7 

answer. 

y(*1) =1 

Now, siriply 
»X= 

Y-1 y 

Xy =y- 1 
Let 

f(y) 
=X 

yf"%) 

y-1= Xy 

(a) Given 

nto)=( 

’ y(1-X)=1":es'yit 

Answer: (c) 
y-1 

(c) 

Let 
y 

=u() 

Therefore, y = 

(d) 

1y 

(1 mark) 

*:!i:*. 

(a) 

1y 

Answer: 

1 

(b) y 

(c) 1.1 

y 

X 

(d) 

1.1 

(1 mark) 

[88] If f(y)= 

, find f'). 

(a) 

[86] 

If 
u(x) 

= 

it 
is 
a 

Reflëxive 

only. 

1-x 

(c) 
If 

f(x) 

(2, 
2), 
(3, 
3), 

(4, 
4). 
(5, 

5), 
(6, 

6)) 

be 
the 

Relation 

of 
A= 

(2, 
3, 

4,5, 
6} 

1 

then u'(x) is: 

Answer 

. [Chapter 

+ 
7] 

Sets, 

Relations 

and 

Functlon's 

3.419 

3.420Solved Scanner. 

(2,3,4,5,6) 

[87]: 

f(x) 

= {(2,2) 

;(3,3) 

(4,4; (5,5)· 

(6,0)} 

be: 
airelation of 

set 

tepla
e 

xwith 

(, 
anid 

y 
with 

'x, 
ähd 

you'l 

get 
the 

CA Foundation Paper 

-3A 
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